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SECTION - (A)

[ () GENERAL AWhRENESS ] 5,

| Which of the tollowing remained as the
president of India during the years 1967
and 1965 7
(AY D Sarvepalll Radhakrishoas
{B}  Dr. Zakir [ussain
€y Do V.V Gid
(D Dr Fakhruddin Ali Ahmed

2 Which of the following is an ougome of
the roratien of the earth -

(A} Tides

(B Corialis forcs

(Cy Gravieational force
D1 Felips

3 The country which Does NOT have
international border with India, is -
(A} Bri Lanka
(B) Bhutan
{1y  Myanmar
(T3} Bangladesh

4 - The niver Brahmaputra is called in Tibet
as -
(A) Subansiri
{B) Debang
(C) Lohit
{1y Tsangpo

i

Who does sigh on the Indian curreney note
of rupes che 7

(A) Governor, Reserve Bank of India

(By Finance minister Govt. of India

(C)  Chairperson, planting commission,
Cront, of Imidia

(D} Secretary, ministry of finance, Govt.
of India

IDD-1/ASTPXA13_A |
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The maximum nurmber of members 15 the
Lower House as envisaged by lhe
consttution of India is -

(&) 542
(B} 530
€y 552
(D 343

ln which states or Ution Territaries of
the following = Weutenant Governor is
appointed by the president of Tndia °

(A} Anmeachal Pradesh
{B)] Delln

(C} Wagaland

(D) Manipur

Tdentify the mismatch of the follawing -
{A) Kohima
(B) Tenphal
(Cy  Alzawl
(D3 Topura

Which of the following four states bas
highest geographical wréas (as compared
among the four ondyy ?

A} . Andhra Pradesh
B} Ciujarat

{C} - Uttar Pradesh
(D) Tamil Nadu

Which Indian state or Union Territory has
third highest literacy rate as per census
011 7

(A) Pumjub
() Tittar Pradesh
(C} Mizoram
(D) West Bengal

| Contd...
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12

13

14

13

The first International Earth Sumonit was
held m - ;

(&) Brazil

(By Canada

(=) Urugoay

(D} South Africa

Which of the following i 2 fossil fiel ?
(A Wood

{B) Wind

(7 Urgnium

(D} MNome of the gbove

The name of the Chief Minister of Tamil
Madu state at present 15 -

(A} Kamnanidht

(B8] 1 Jayalalitha

(Cy  Chandrababu Naidu
(DY Japdish Skeitar

Which of the following [ndian siates has
second highest number of representative
members a5 membet of patlizment in the
Lower Houae 7

{A)] West Bengal

(BY  Bihar

(€] Amdhra Pradesh

(D} Mahavashtra

Which of the schedules of the Indian
constitudion iz related with recognition of
Indian languages
(A}
(I3)
{C)
(£}

Seventh
Eighth
Fifth
Sixth

15

18

19

20
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The Indian stete, where percentage
proportion of Scheduled Tribes population
is highest as per census 2011, is -

[A} Chhattisggarh

(B3 Madhya Pradesh
{C} Meghalaya

D) Mizoram

Who is the present charperson of the
National Commmission for wormen, India 7
(A) Girdja Vyas

{BY Renuka Chaudbaty

(C) Jayanti Natrajan

(0¥} Mamta Sharma

When did the Khanwa battle foughl
hetween the Mughals and the Raiputs take
place 7

(&) 1526
By 1527
(C) 1568
(p 1519

The Dandi March by Gandhiji began on -
(A 30t March, 1930

(By 5T May, 1930

(C)  12% March, 1930

my 268 Japuary, 1930

Who was the first Home Minister of
Inda after imdependence 7

{4) Sardar Vallabb Bha Patel

(B Lal Bahadur Shastry

(C) B. R. Ambedkar

(@) Meulana Abdul Kilam Azad

| Contid...




{ii) GENERAL INTELLIGENCE & REASONING ABILITY

Divecrions © fir viis following guestion, from | Directions  In these guestions. sefvet ihe
et prven alierhatives select the word which | related letterstwordimber  from the  siven
coved De formed by usieg the fetrers of tme | aftermatives,

given word

26 Fire : Sowke @ 7
(A Moon @ Sky

21 APPROPRIATE
iA) PROPER

i) RAPPORT (By Shos  Polish
(1 PIRATE (Cy  Children - Scheol
{ly APPROVE M Cloud = Rain

22 1T FLAITER s coded as 723BESD and

T < f:
MUOTHER is coded as 468159, then howr 27 Grenade @ Gun | @ 5

5 MAMMOTH coded ¥ [A) ban - Woman
(A} 4146481 (B) Head : Brain
(B) 434648| {C) Sister . Brother

(0 4344681

28 TSH : IRQ - ; OPK @ *

23 WIE-2=29-3=08-1=§,
then what is 64 - 4 7 {AY PWK
(Al & ' {B) PON
)
W 8 i) LNO
cr 4 :
oy 2 {n}} LON

24 If PEAR i3 written as GFDIN. how iz | 29 ABEY - FPY © BGX | 7

REAP weitten in this code 7 (A} HTX -

[A) DMGF o HYW

{B) NDFG : i

(C)  FONG T R

(DI NFDG ' D} Iy
5 Tt a4 —d43 =12, 60 + 51 = 10, | &2 87

then 62 = 72 = 7 (AY 5

(AY 20 By 7

(By #2 :

(Cy 30 Wi 8

(D} 18 @y

JDD-1FASTPRA13 A R | Contd...




Directivny  In these questions a series is
Evew with one e missing. Choose the
corkect alffermative  fiom the Bhen ones thot
will complete the series

31 DA HE L 5 TN
(A} PM

(B] PK

iy Bl

() PT

32 BELNT 1
(4) A
B 7
iy X
) Y

33 AZ CX, EV. 7
(Ay GS
B} T
(C} HT
(D} HU

3 DIY, 1273, PRIM. V243G, 7
{A)} BT7294
(B) 47208
(C) A324B
(D) CTom

35 YR, UTS. ONMI, ¢
(A) IHGFE
(B) HGFED
(€Y FEDCB
M GFEDC

IDD-1/ASTP/X-13 A | 14

35  What'is the migsing letter in this series?
A S M
(Ay ¢
(B} =
€l q
Ly v

37 What is the missing letrer in this serigs?
. Yy e w p uwiji?

(A) ¢

(B) 1

(Cr r

@ k

S8 What iz the missing letter in this series?
b = b ka7 ¢
{4) o
(8)
(C)
(o

i B = T - |

Directons : In these guestions selecr Hhe
reloved lefters wond /' mumber Sroan fhe given
afierngtives.

P

39 APPLE : 50 : . DRANGE -
A} &
B &
©r &
(D &9

40 Accommodation - Rent - ¢ Touiney - 7
(A} Fare
(B) Expense
{C} Freight
D} Oetrod
' 1 Eomtd...




a1
|
I
:
3
1
1 l’ 1
43

- e
L(iii) ARITY AFTICAL

& NUMERICAL ABILTTY |

The value of wib—c) +hle~a)+ola—b)

13 eqjual o

(A 0
(1
Y gebye

B} ah+foteo

TFa=4. the valae of a+ 7 js equdl 1o

(A] 4

12

The ~alze of {33470 ee(25) 4a
(A} 35773
(R

(C) 23280

D)

IDD-VASTPN-13 A

44

45

44

The value of 10%7 +10% 5 .
(A} 16
B) 100
(Cy 1000

(D} 10000

A

I:}n_l

{8)7/3 is equal to

()

(3 ]

(B}

b —

() 3

| e

(D}

1.

-
15

The valye of {u-g;]

(4] JBxBxsE

(By gt A
(D) gls

| Chnd..,,
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48

49

The value 0.5 + J05+5=19

(A) 5503

(C} Q558

D) 5.530

IF Ty =525, then ¥ is

—_—

Ay =
O
{BE
B) *
2
i =
£
D':’-
j—
w3

Deepika obtzined 285 marks mit of a
maximum of 500 marks Pergenliue
marks of Deepika 1s

{-.l'!lll:l 2?':'-"6
() 57%
() 73%

(T¥) 25

14

S0 Which of the following iz smallest ?

51

B2

(Al

{B)

(<

(L}

Which of the following number is no

perfect squatre 7

(A)
(B)
()

D}

A 12.5% discount on marked price of
. Rs, 120 1s equal to (in Rs) ;.

{A)
(B)
()

(T3}

36
132
121

1
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53 The sum of two number js 10 and their

54

F
L

56

. (B)

difference is 6. then the numbers are
HA) (B D)
(% 1)
i)
(D (7, 3)

(5. 43

230 is divided in 1o two PATIZ in
proportional of 2 | 3. then the sesond part

15
tAa) 10
(B) 125

(Cy 150

@ 175

T x i divisible anly by 3 and 5 is

divisitle ofly by 5 then v is divisible
by :

{A)
(B)

Only 3
Cnly 5
)
(I

Omly 3 and 5
i, 5 and 15

The smallest pritne pumber is -
(AY O
B 1
) 2
i 2

JOD-UVASTP/X-13 A |
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57

Sk

59

610

The value of sint® is
(A O

® Y
© Y

Dy 1

. The numbers of stones of size 20 C.i, =
30 o, required 1o caver g square field

of 3 meter side, are -
i J :
(B}
{C)
(L)

1 liter is equal :m :
(A} | 100 em?
(B) : 1000 em ?
{©) 100 m?

(D) 1000 m

In the given sequence find the nissing
mumber 2, 3, 5, L I '

(A)
(E) ©
()

D} 6

| Er:ntd
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61

hl

63

frd

63

b

(iv) =7 o ¢ e

ATV W At P e
(A] ™| + #HT
(B) § | FTTd
)y =1 - T
(D) T+ aF

B geaty T oa{ET GTH, o,
WER, TR §El R WA W b -
(A} HAF, wew, @99, 769

(B)Y TR, 997, WEH, T

(0 wEE Iew, HaM, Hey

(D} 7=, owme, "WEW, 5E8

Thef WA A TUE OO WHTE T R 7
(A) TE

(By wogE

(C) wEEhk

() fhu

Al g VT TET 9W T =g
W R Y7 g o

fA) gdemifiee (i

(B) wIma® fear

(C) wgwr fwar

(D) - e

‘o 3um A & W 5% Gy &
o anm s B -

(A) =T

(B) o

(C) #g

(D) @y

W' T B TG TR W
(A} il osfa, =hy few, wf
(Bl =, T, M, e, A
(Cy T, e-ﬂ*: TET, ﬁﬁi. A
(D) 1A=, INTEr, waty, FeE, afm

JDD-L/ASTPA-13 A ]

q-
l

68

o2

71

12

T’ THI™ % A wgE € A
Lol B

(A} freg B} &

{cy fim (D) &

Pefdfas o 7 & fom s o
AN W WyLE WA Een %7

(A) ¥ =1 ] 98 @ gmEn
(B) oraes ammE Wy & Tewelr W w8 £
(C) # 3% & um wst 9m .

(D) 7% Z8 426 N FIw WA

T‘h‘fﬁﬂiﬁﬁ?ﬁﬂmﬁwmqﬁ
wie &7

{A) = ww

(B} HAIMT wTiE H

(C) dwer HHw W

(D) wRE FE 3

fﬁﬁﬁaﬁﬁﬁﬁﬂrﬂ&ﬁﬁﬁw
HyaTe T E ¢
M}‘FE‘FEHT'
(B uferar

(Cy ammm N
{13y fe=hierm

ﬁﬁ%ﬁaﬂﬁmﬂwfﬁmmm
tA) =¥ ¥ i
(B) WA wT T fi
(C) T ULt g ¥
(I3} mmm%mwmh

(T |
ER |

T IR e 4 aﬂ'{g}ﬁ'ﬁmﬂ
—mﬁﬂ%mﬁmyﬂt .
{A) ﬁﬁﬁﬁmm i
(B} wrdE ot dromis  °
() wEE oft weew S
(D e Wt v

L

{ Copid...




3

T A gre A ET, TEe AT el
Wl ARA & FY mO Ok, T HEl Tl
* -

(A) Fear-fasre

(B) H9Y=Iq H1OW

(0] 9= [YH

(D} Tammfy wes

73

ﬁmﬁrﬁﬁmnﬁﬁaﬂmxm
W wEd & -
(A) o
(7} SATH

T4

Hity
[EEAES

(B)
{D¥)
75 uTE g wm alww Raem g
{A} TEW (B) T
€y ®T (D) YR

i [T SgwE w T § e o
FF T 0wy gyl % goT i) vhw meT &
MG ST AN T E A B C eir D e
T Ty #) E B dew v TAT A adh A ey

H’rﬁﬁ?ﬁﬁﬁr
T

Fiae g e fawl & Pree fae b ox
femmer &7 Pl dfergf & ooy < o el A
B el =it wE aed & 2w @ e afw

& g% UW e ¥ e W e
T & W @ w5 T b

HiE T 73am W Fmim 1536 & way o)
TF WITE W UEA] TR A A1, e, 1973
# firrreat & amaf ot e % fam T wPvge
= T I v & e )

Tt % it s i orm ¥ e
ot Ty ff T dum F wE ¥ Am, et
weERHl, fodz famma o oot v ¥ 2 gyad
A W 5w B e we ¥

IDD-1/ASTPE/X-13 A]

19

aET Tt s el o A w oweg £ oA
T, WA W (i) Wi feedt, e
T AR W U 6 gm Zed W OAm e
= W g% ¥ owag o ufivdt  wmer sS40
T Wi SgEE § U awr ¥

g om Tudslt & oiew & 5y srae &
A THE ¥ 8 el  wE TS € A7y
Wt FEE U W S e K e unl # w5
= FET w1 wenf watw g o
AT #)
76 Pt & g s Tt aga wEe

e e o

(A) = dnpEr § wl Ty T ¥

(B) & 3w § ol 7 o ¥

(C) 3 w2y & 551 =1 o%a §

(D} =xa e B9 aror v e A

o W wEay ¥

A, 1973 ¥ B Twig 9smE @ W
e FEgr Tan

{A) A g

(B} WET WL IEOH

() medy o wEr

Oy g8t Tgoe

THEE T G H oae § s o
W AT g T AT ] B

(A fiie (B) i

(C)} wmxgmen (D) 2

" S W owr Al R F
(A) frsm By fafowar
(Cy @ (D) Wy

RS AT WA HOR 7 WU o) gk
Bt
(A) Wl =1 v g T
(B) w0t amef & =# =
(Cy wirif wt el ooz B ¥
(D) W %) Fikz o599 168 &)
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(v) TEST OF LANGUAGE ; ENGLISH

Dircetions @

The Hollowing sentences are divided inio four
parts. {ne part i éach sentence is wrong. You
have to find it

+

This ¢ _ii { angreat ; idesa
oW B @ D

I f havesaw ¢ the f cireus
82 e~
(A). {BJ € (D]

Raja ¢ lowve ¢ his ¢ mother
¥ B © o

I¥irections @

select the suitable word to fill in the following
RENTetEes,

34 [ poored the milk
(A) in
B} with
C} mio
i

the glass.

35 lmether  the junction
(A} on
(By by
{C) at
(D) below

86 | tasted
(A} the
By =
{Cy an
(D) or

icecream Loday,

JDD-VASTPX-13 A |

Directions 3\
Complete the following sentences by selecting
the best aliernatives.

87

" Directions &

Given below are four sentences marked as
| 2 3 4 Find the correct order of these sentences
10 make a paragraph,

gy

1 thought 1 should

(A) my experience =hare with vou.
(B) experience you with share my,
(C) share my experience with you.
(L) share you experience with mic.

I am planting & holiday

(A) for ten in Skimls days.
(B} in days for ten Shimla.
{C} in Shimla for ten days.
{P} in Shimla for days ten.

If he iz hurt.

He carries his house with him.
Tortolse i3 & dtrange animal.

He draws his head into hig. hongse,

P

B oW

?ﬁécmﬂmmmﬂ fe -
(A} 1234
(B 2134
(Cy 3214
D) 4312

1. © It entertsing us and gives ws
pleasure,

2. Withour it life jz incomplate,

5. Music 15 an art.

4, It is part of evervhody's hifs.

The correct opder will be
(A 3214
M) 31242
() 1234
(i 4321
[ Countd..,
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Divections + Which of the fullowmy word i
cerrectly spelled ?

91 (A) Commumrication
{B] Cemunicabon
() Comunnication
(0 Comunicetion

92 (A} bussmness
(B} business
(C) bussmess
(D businness

Divections : [ the following questiony cnoose
the word wiich has. similar meaning 1o e
word (i CAPTEAL

93 INFRINGE

{A)  dirscusa

(B) tramipire

(C)  wiolate

(D) none of the abave

94 CONTIGUOUS
(A} incorrigible

(B laminated

{C) touching

() nane of the sbove
95 CLOSED

(A) clewr

(B) shut

{C') finished

(0B} none of the above

JOD-LASTRX-13 A |

[Firections :

Read the following pissize carefully and answey

the guestions that Tollow. For each question foul

probabls spswers bearing numbers A, B, C and

D are oiven. Only one aul of these i correct.

You have o chodse the cormect Moswer,
PASSAGE

There was o warow rope-hridge acrass a dap
Hver, The bricke was so narros that caly ane persca
conld croee it 2t & time. It alsp shook 3 sreal dual
becauss fe was mods from ropes. The Hridge was
Waggh mbove thee siver. One dmv 2 poat was croEsinge
e roposhodoe, From the gther side. poather goat
decided 1o cyoss the bridee ol the smme tm The
twn goats met in the middle of i byidis

The goats toied w walle past @wch other bt the
bridge was too nerrow. Hoth the goads could pol
cross -l the smmie tune: They tricd wopush aoa
squeeee thoir wiy post eeh lier but the bridac
bian 1o shake and swing in o dangerous wak, A
o step o a hued push vould sasly amka tham
foll o he river.

Fhe teeo godty featized the domeer’ they ware 1o,
They stopped pushing each ather, Thiu wno peat
kpelt down while the other climbod aver it bock
The rtuls. s wers able Lo ot past each ovner il
ghey ot ronchod the ather and safely.

96 What happeoed whon the goats begnn
pushing each giher |
(A} the bridge bégan o shike
{B) the roges broke
{C) the gom fell intodhe rives
(D} the poaty weni back

97 What |ay Balow the narrow bridae 7

(A A ovillnge (B} o Teld
({C}. adeep river (D) o gardon
98 Why did the goats dtop pushing esch
ather”
(A) hew knmew there was danger
(B} they were tired
() they liked exch other
(D) Gne goat wis bl
&9 The ward 'squesze’ Theans
(A) Lo kit
{B) o press againan epch athor
{€)  dungerdus
(D) cross
108 The bridwe was thade of
(41 ware (B wodod
{{7) rope (D) bncs

| Cowd...
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|SECTION - (B)

POST SPECIFIC SUBJECT 7RELATED QUESTIC NG}

1 Tn a child, process of cofcepr tormation
beging when he is -

(A} able to differcntiare between
: atrmaehig
(B) posscyses good knowledge of
language
{Cy completing 3 years of his dgme
(1) Al of the abowve 1
102 The inappropriste method of motivarion
iz -
(A}  Punizshmeet
(B} Praise and Blame
(C)  Enowledge of Progress
(D} Compsatition
103 Whm;.JJ uf the folloving pmrs (2 mot
correctly matched 7
(A} Identical Cloment Theory —
Thoradike
(By Theory of Generglization —
. H Judd
(T} Theory of Formal Discipling —
Kohier
{1 Theory of Specific and
General Elements — Spearman
WM When provious lesrning malees learming
SRsiel in new situalion, it is called -
{A)  Positive transker of bearning
(B)  Absolute transfar of learming
() MNegative transfer of bearming
D} Fere transfer of earming
JDD-LASTE/X-13 A ] 22

103 The nethod B petsonality measuremant.
which is used to study the individaal's
unccmscig}ll; Jnind,

106

107

108

(A}

{B) 3

(C}
{12}

In which stage of child development,
Cedipus and Electen complaxes hegu: I:-r_:u

15 =
Objective Metizod
Subjestive Method S
Projesive Method =
Peychopnalytic Method

devedop 7

{4) Infancy stage HH
(B) Childhood stage a0
(C) Adolescence staga e
D) Adulthood stage

AT

Which of the fallowing statements
represent-the characteristic of Uirowtl |7

{A)
{B}
()
{3

Its a-quantitative aspect.

141
It not measurable
Its not hfe-long process, 7

It denotes only physical
developrment. 1

"Tntelligence is rational thinking".
This defisition..of - intelli gencems

given by - . e
(A} Stern . ()
iB) Terman ; (EL}
(C) Speannan {H
(I¥) Binct - (o

[ Conddu.. ..




109

110

111

A child of class Eight scored poor marks
ifi Miaths, and for this blaming his tn_aan:‘.':ieefs
ardl examiner. In this, defence mechanism
used by child would be -

(A Prnjecﬂ;:n
.{B} E.atinnalizath::m
(C)  Compensation

{3} Repressiom

Education of Handicraft should be given

0=
(A} Gifted child
(B) Creative child
{C} Backward chiid
(D) if}elinqm:m child

The formula to calculate Intelligence
Cuotient (10 = -

e Ehmuﬂiggjgal ape

Gy =2 Mental ape =100
(A TQ:E%;M% 100
& 97 Ehiﬁiﬂ;wxmn
1.:!}} LEFF;::;:::,L:F:;*HDD'

© JDD-/ASTP/X-13_A |
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111

113

114

115

fl-

Vipin is 4 day - dreamer, having igterest
in reading books, not-able to express his
views ' before others, non-friendly and
idealistic boy, Then, the type of personality
he has -

(A} Extrovert
{B} Introvert
(€)  Ambivert
(D} Athletic

"Educational Psychology is a systemans
study . of educational growsh”,
This defimtion of educational peychology
is given by - .

{A) Skinner

By C. ¥. Good
(Cy 1. M. Stephen
{0y C. H Judd

If a child's chronologicsl ace is 12 years.

-and he can take the intelligence test
‘meant for 15 yesrs old child, thet his L0}
rwdll be - ;

(A
B 100
G
)

§ 50

125
120

The stage of cogmitive development,
according to Piaget, in which & child
displeys ‘obiegt performance’ is -

(A)
(B)
{2
B}

Formal ‘operational stage’'
Sepsoritotor stage
Pre-cperational stage
Concrede operational st'a{sj,é

1Conid,
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17

118

119

120

Which of the following is not & associative
theory of learning ! :

{A) Classical camlm:}mng theory
(B} Guestalt theory

iy Stirualus-Response theory
ifyy Operant Conditioning thewry

Hutger, thirst, need for securiy all are
 mobives.

Artiticial

f‘LC{ll.-l-i.I‘li'd

Social

MNatural

(A
(B}
()
(2}

Ity QUESUIGONANE method of personality
messurement, when answers of the
questions re given [n the form of Yed
or Ma, then the wpe of yuestionoaire
would be -

(A) Closed Questionnuire
{B} Open Questionnaine
(Cy Miced OQuestionnaire
(DY Piceorish Questionnaire

When ]:ueums learning creates barrier in
loarming i pew  situabon then it is
called-

LA
(B}
L8
(1)

Positive transfer of learming
Megative transfer of leaming
Foro transfer of lewrning
Horizontal transfer of learning

Which one ol the lillowing is net the
projective  method  of petsonality
measurement 7

(A) Rorschach Ink Blot Test
(B) Word Associeton Test
f0)]  Observanon

M) Sentence Completon) Test

JOD-VASTRX-13_ A}
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128

112

113

124

125

In which stage of child development,
child shows maximum attraction towards
opposite sex 7

{A) %ﬂcy stage

By Childhood stage

() Adflescence stage

(D) Agoithood siage

Which of the following i is not the principle

of Development *

{(4) Principle of specific lo general
activities

(B) Principle of Continuity

(Cy Principle of Variation

(D) Pringiple of Integration

Which of the following iz not the
symptom of Maladjustment *
(&) Cuarreling with pecrs
(B) Nail bitmg

fCy Emotionally mature
(D) Stammering

Which of the following is a charaoterisnc
of a gi:&e::i child 7

[A) Fall far behind than other children
of his age.

Possess low 1.0

Fast decision making power and
epnfident. :

(B}
(€

(D Unable to mteract with others.

The concept of Méntal age was ntrochueed
for the frst time in - ;

(A) Bine-Simon Scale — 1905

(B) Bine-Simon Scale - 1908

(C) Bine-Simon Scale — '|":"1|| )

(D) Bine-Simon Scale - 1'?|.E.

[ Ot
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127

118

129
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According  to  Kretschmer, rthe
characterisiics of an individual of Pyknic
tvpe of personality -

(A} Sociable, introvert and shy

{B) Soctable, cxtrovert and shy

(C)  Sociable, extroverr and friendiy
(DY Socieble, introvert and friendly

According 1o Piaget's cogaitive theory of

learning, the process by which the
cogmitive sinpclure 1s modified is called—

(4) Accommodation
{B)  Assimilation
(C) Schema

{IY  Pergeption

The correct sequence of phases of

Bandura’s social leaming is —

(A} Observational, Atzentionad,
Betentiona! and Motivational

(B)  Observational, Attealional,
Motvational and Retentional

{C) Observarional, Betentional
Attentional and Motivational

(D) Observational, Retentional,
Motivational and Atventional

If a child's chronclogical age is 12 veers
and his 1.0, level is 75, then his mental
age will be —
Ay B years
{B) 9 wyears
(C] 10 years
{0} 12 years

18

134

131

132

133

f;l-

"Leani@ipermligifestion of behaviour
thaMﬁﬁlmg — This
defition qﬁ eipeng vis. given fl:r:.,r 34
{j\.:]- ﬁﬁ | jf?;"""-‘-'-.
m}---mﬁ’;ﬁeﬁ*f

(Cr Crltoiibingmes

: "...-tl::l teach 'Crap
s, the best or most
gicking this topic 15—

Bhﬂwi,m.; steps

A \ l.:m:lmem mearhy
Bmation regarding
e -l:|nf production of
crap u.n-rf 8 FEpOIL.
& FRE S T, Bl .'!..'i
Lo ki, '
Ta dﬁ‘r‘ﬁiﬂp wp attitude among
studenis,; & wm shoufg not -
{A) use ft 1F‘l"'i:'lsl'ltrm!fl teaching
mﬂhﬂd’ s -I'|"|

(B crrgamze @-Ehrrhular activities

(C} usa innovative méthéds of teaching:
(D) satisfy cunn;ty ‘of asud::%g_

The subject wl:m:h is most 1e to
ijﬁ‘-‘@]ﬂp renmmng porver of 's
is - lﬁ_l
(A) Hindi . fEi s
{B} English £,
(C)  Sansknt (L
(D) Science
-4 Comtd...
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134

135

136

137

A science teacher has co teach 'Diilerent
tvpes of force’ in his class, Then the most
soitphle method to tesch this topis 15

(A} Lecturs method
iB) Ewaluation Approach mcthod
{C) Lsaboratory method

() Demonstration method

A seence weacher asks students to @ive
exanples of solid, hiquid and gas Here
riving examples is relaled 10 —

(A) Knowledge objective
(B} Understanding ohjective
() Application  objective
(D) Skill obpective

A science feacher wants to teech a topic
"Biondiversity” to the studenrs The best
way of teaching, she should adopt -

{A} teach from text book.
(B} teach by showing pictures.

fC)  taking students to-nearby perk, take
photograph and prepare: report on
flora and fauna observed.

(D) sugzest to read by their own, 88 It
15 a theoretical corcept

Innovative methed of teaching, in which

students can leamn by its own pace of

learning —

{A) Inductive method

(B} Deductive method

() Prosmammed Instruction
(I Wearisiic method

JDD-VASTPX-13_A |

138

139

1440

141

Taxumm}f"nfeducilﬁuﬂal aimy ¢ objectlves
is given 'ﬁ}

(A) Krathwol

(8] B. S Bloom

(Cy Robert Mag:r

() Gyans

while teaching the topic Friction' io
ciass V11 students, a:ecience teacher gave
a tumber of examples to explain that
'friction is harmfid to us in many ways!
The example which was not quoied by
her correcthy is -

(A} We are sble to walk because of
frictzon

{B) Wearing out of machine paris

(C) A vehich siops o Applying brakes

(D) Able to write because of fierion
between the tip of the pen and e
paper =

is 1ot a]:rpmﬁri.at:
to teach ﬂE‘I:-TlE‘.E in ;nidd!ﬁ classes —

(A) Dﬂmunﬁtratlm'l method
(B) .ﬂu:tmty based method
(C)  Lecturs method

(DY Inductive metbod

Teaching tﬂethud. whﬁﬂt

A sovigl stedhes teacher wants to taacl'
the location of contimems and Qoeans.
The type of mep she should use is -

{4} World political
(B} Warld physical
{C} Indian physical .
(D) Indian political

| Coiftd...

- —
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143

144

145
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To create interest in-social science among

students, a teacher should —

(A unse same type of feaching methods

(B) teach by wsing text-book

() noet allow the students te ask
questions

(M) do activity based teaching

While preparing a lesson plan on the
i "Agricufrure’ what will be vour first
step 7

{A) Select teachingz aids

{B} Frame objestives

{€) Go through the topic many times
(D) Prepare introductory questions

A trainee teacher writes one of the
ngtrpctiongl objectived as "students shall
be zble to describe the meqmtiz of
democracy’. Tn which domain shall this
objective fall 7

(A} Skill

(B} Synthesis

()  Comprehension

(D) Aealysis

While deahing with "Social Equality', what

shiowid be the most appropriste approach

for teaching 7

{A) Explaining in detail the practice of
untouchability

{B) Explaining the concept as deacribed
in the text book

iC) iving & project to smodents to
review iexts relating o "Soctal
Equahty’,

(M} Citing the oxperiences of the
communities that make up 1he socipl
and culturst milieu of the child

32

146

147

148

149

150

Tm::l’rmg performed by a group crftean:hers

15 —

(4) Team teaching
(B} Teacher teaching
{C) Written - teaching
(D) Oral teacking

In History text-books many sources have
been gwm in each chapter -

{A). to prove the creative talent of the
authorg

{B) tr:rm'm-'e tha;t more than ong source
are Ei‘"h"ﬂ:j.‘ﬂ better

{C) to jumﬁr the aelection of topie

{I¥ to encourage students (o work an
sources’ and derive interpretation

The techmique use to test the’ &E[]um‘,ﬂ
knowledge of students s —

(A)- Asséosment method

{BY} Progect method .

(C) OQuestion-Answer method |

(o} mhmmm tnethod
Father: of ‘prodlem solving mejhed is —
(A) D. V. John }
(B Karl Marx
() Wiliam Adam
(0} Socrates and St Thonma ;.

Team Teaching was wsed for the tirsc

“tine il =

(A) India

(B} Russia

{C} America

(D7 Britain v

| Conid..,




151 A receptive oral skill is -
(A} writing
(B} speaking
(Cy listeming
(D) reading

152 The purpose of remedial teaching 13 to-
' (A) . introduce new language items
(5} lest resently tausht items
(C)  teach again the language items rot
properly learn

(I¥} teach again the lompuage items
already learnt

153 Most of the students of a class got poor
prades in the English assesament, The
type of the teacher will degign to find
out the cause of theit poor grades is -
(4) Diagnostic Test
(B} Proficiency Test
T Achievement Test
(D} Aptitude Test

154 A teacher engapes her learmners inoa fun
getivity before beginning a pew lesson
T'he purpose of this actvity 5 o -
{A)  divert the attenton of the learners
{B) motivate and energise the leamers
(C)  reduce the worklcad of the teacher

(¥ diseapline the learners before the
lesson

155 A quick reading of a passage looking fur
specific information is called -
(A) Skimming
(B} Spesd reading
() Scanning
(I3} Silent reading '

JOD-/ASTP/X-13 A]

4

156

157

158

159

1 6d)

Which of the foilowing is not g study
shall ?

(A} Nove taking

{j!} Getting information from an
encyelopedia

(C) Writmg formal reports ¢

(D) Using dictionary

Where the matter is grouped on the base
of sefitence structure, it is called -

(A} Phonetic grouping
(B) Grammatical grouping
(C) Lexival grouping

D} Semantic grouping

S

The Audio-lingual method is (afio known
a3 Armiy method) is said to resuh in rapid
acquisition of -

(A) reading . and speaking E-kﬂ]ﬁ

(By reading and listening skills

(Cy speaking and listeming skills

(T writing and. reading skills

In Ianguage, the mder It wh.tc:ﬂ skills are
taught 13" -

{A} Listening, Epenking, Reading,
' Wriing .
(B) Writing, Reading, 3Speaking,

Listening

(i S]IIIE-IIL'.III.E1 Listening, Readmg
Writing _

(0¥} Writing, Reading, Lislening,
Speaking

Reading & ashort passage and answering
detailed comprehension is called -

(A} Spesd Redding '

(B} Skimming ;

(C) Imiensive Reading . °'

(¥} Scanning
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161 Iln order to introduce the topic on
‘Nutrition’ in class more effectively &
eacher should -

(A) * ahow the model of human denture

(K) Ask the gtudents to open their
Tifin-boxes, see the contents,
fllowed by teacher's explanation

(C)  Give exemples of different foods
rich i Duirieats

D) Draw the diagram of Jipestive
systetn

{62 The example of specification of
understanaiog obiective 15 —

{A} Able o classify
(B  Able to identily
() Able to differentiate
M} Al ef the abuve

163 There are four below everage students in
a class. Which one of the following
strategies will be mast effective 1o bring
them at par with the other students ?

(A} Make them sit it the front row and
supervise their werk constanely

(B) [Identify their weak areas of leamning
and provide remedial measuTes
accordingly

(C) Ensure that they attend the schoal
regularly

(D} Give them additicnal ARSIENMENLS
to do gl home

JDD-UASTR/X-13 A 36

164

1465

166

Ciriginator of play - way method s -

(A) Froebel

{8 -Balton =
(C) Elgmund Freud

(D) Montessor

Comprehensive Evaluation refers o
asgegsment of-

(A} Co-corricular activities

et b —— —— e

(B) Academic subjects

(C) Both scholastic and co-scholastic

k=l

([} Sommative assessment tests

The most sppropriate teaching methad ol
teaching Algebra at uppes pririary level

s - :
{A) Practical method
(B) Inductive method
{CY  Bquation methad

(D} Play method

| Contd...




167 Which ol the following is not the principle | 171 Ther mast sppropriste method o teach

of meaninghil learning in Mathematics 7 "Third lawr of -Motion" i85 -

(&) Principle of Uity (A} Deductive method

{B} Principle of Roting (8 Demonstrasion method;

(C) Principle of Txercise (C) Lecwre method ;

(D) Pnnciple of proper use of mental {Di_. Inductive method 3 e
PIYWELS

172 Afier havieg been taupht about Brallic
Wystem, the students were taken school
168 A child is able to compute the third side of viaually challenged pugpils. 'Iht;. S
of & night-angled teiangle it rvo sides are | - pefp the stodents to - :
giver. The above mentioned behavioural (A) have fan and enjoy wi‘ih Frivand.

changs iz related to —
A K_; Jed hiacti (B dﬂ‘relu-p respect tor aJ" by pes af
(A owledge objective I 3 pos,

(B) Application oljective (€} comrelate-classroom leartaing 1o real-
(C) Skill objective iife situations. i
(D) Attitude objective (DY) develop positive sttilude towards

visually challenged pupils.

169 [f students understand the concept of
gepmetrical shapes. hen behzvioursl
change among the stadents will he -

(A) Able 1o classify figures
(B} Able w0 draw similar figuares

173  Assegsment in Science should f&wﬁ tore
on tésting the ability of H’tpd!-entﬂ o -
{A) be sufficiently aquipped Tor ligher
learning gk
(B) state the facts and prmciples of

(C] Abls to exhibit gecmetrical figures Science correcthy o
(1) Able to recall the peometrical to unfimmiliar situations 6. everyday
figures life

(DY) answer open ended questions
170 A teacher asked the students to pick oul
the p.grfe.;_-.t cubes from a 511.-,-‘-;11 el OfF 174 A teacher h&ﬁ to teach 'STﬂLIEluJE' of a
aumbers. The objective achicved by this flower’ in class VII. The most sppropriste

8 = method that a science teachef Should use
it to teach that topic - 1

(A) .-'L]:.l]:l-hr:a.lmn. (8) Lectore Method

(B) Understanding (B) Problem Solving Methed

(Cy kil {0y Demonstration Mathod

D) Knowledge (D) Evaluation Approach Method

JDD-T/ASTRX-13 A | .. 38 s Conid...
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175

176

177

178

179
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‘Fhe concept of esd permination’ can be
taupht best by -
(4} showmnmg photographs of seed
+ BRSO
(B) showing perminating seeds n the
clasy and explaining the process of
germination
{C) explaining through drawings on the
board
(1) asking the studeats to perform an
achivity to saw seed, observe
different stages and draw them

If & child is able to identify the errors
in science expormenis and statements,
then the achieved objective 15 -

(A Knowledge

(B} Affective

{C)  Psychomolor

() Skill

The founder of Project method is -
(A)  Armstrong

{B) Simpson

{(C)  Kilpatrik

{In B F Bloom

The quality of 2 good Science text book
iz =

fA) Content unorganized

{BY Latest Information meluded

{C)  Black and white pictures (diagrams}
iny  Costly

Diowng activities. with children will be

effective only il -

(A) the teacher does not know wh\' ahe
15 domg it

(B) the teacher conducts them o
vomplete her 'Lesson Plan’

{1 the teacher does them as & prelence
1o obey ber principal's directions
for activity based learning

A she believes that activity based

education will help the cheld in
understanding the concepts

40

181

182

183

134

The mechamsm of hreathing in Class Y1
should be explam by teacher in effective
way by using -

(A} Chart

(BY Tmprovised apparatus

{C)  Text-book

(D} Transparency (OH.IP)

The subject of Social Science was started
for the first time in -

(A)y India

{B) England

() America

{D] EBuwrope

A teacher wems to teach Ramayana’ in
4 «lass. The method she should adopt 1s-

(A} Heurstic method .
(B) Figid-ip method
{C} Story method

(2} Lesture method

A frainee teacher writes, one of the
instructional objectives as 'students shall
he able to differentiate betweep. kbanif
undd rabicrops'. The: domain in which th 5
objective will fali iz -

{A) Ps-ynhnmnmr
{R) Affective

{C] Cognitive
(D) Jkill

Ome of the most important and, effective
methods of teaching Histary al elﬁmerta.r',
level 15 -

(&) Stocy-telling method
{B] Lecture method

{C} Discussion method

[ Question-answer meihod

[ Contd...




185 In order lo promete the process of
eo-operative learming, the reacher should -

AA]

186

187

188

JI-1FASTPR-13 A

(B}
(Ch

(D}

A socid! studies teasher wants to teach
the voting procedure Lo the students of
class 8™ The most appropriste method
she should use iz -

{A)
(B)
(Ch
{0y

it a child has l2amt to read and understand
the glabe, then ke has developed -

(A)
(B}

{Ch
(D)

The ancierr method of Socisl Scieper
leaching is -

(A
(B)
()
(I}

allot individual assichment to each
student

ASSIEN Eroup projects

engage students o debate and
discussions

divide the ciuss into groups of
homogencous  ability

Inductive-dedustive method
Textbock method

Praject method

Dralton method

(Geography related skills

Ceography  related ohservationa]
sicills

Pracireal relsped skills
Transtoemation related shdlts

Problem solving method
Observation method
Lectyre methoxd

Practical method

42

189 'Give two examples of private sector

ndustry’,

The question i= based on
ohjgctive

190

191

192

LA
(B
{0
()

Ir the teaching process,

Enowledge
Skill
Undersianding

Application

has an

important position,

A
(B}
()
(D]

()
{B)
(c
(D)

Principal
Management
Teacher

Text-boolk

Teaching maxim use in Inductive methad
i3 = :

uﬂmﬂwn tcr known
:nbstmct ta concrete
general to specific
knowm to unknown

The example of specification of skill
ebjective iy -

(A}
(E)
{C)
(L)

Able to compute

Able to conclude

Able to draw mathematical fieures
Able to solve problems

[ Contd...
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143

194

When teacking addition of fractions, =
teacher nbserved the following emror with
all the sudents

Lyl 3

gl e

The remedial action teacher can take in

such suation s

iA) Help the children to understand the
magnitude of each fraction

(B} Help the children to understand the
concept of LOM

(T Ask the children ey pracuise of
same type of problems

() No interveation is nesded because
she will understand as she grows

On@nator of Heuristic method 5 -
{A)  Armstrong

(B} Kilpatnk

(Cy  Tuler

(D} Froebel

A teacher asked the students to write the
alzedraic expressions for the following
statements

"{iy  Thrice of @ muws [owr

(i} Four time v phos 6

Students responded ad 3o~ 4 and dr+ 6

while the teacher was espeeting

Mo —d4)and Hx + 63 The shove mstakes

have occurred due to -

{A) lack of uvnderstending of linear
BXNPressinns

(B} careless lisiening of studenls

() language used by teacher

(D) tack of practice of wrting linear

EXTHERSIONS

JDD-TASTPX-13 A |

156

197

198

199

200

The mest appropriate method of teaching
Arithmetic at primary Tevel iy -

{4} Play method

{B) Eguation method

()  Demonstratinn methad

(D) Synthetic method

When imroducing mensuration, a eacher
writes el the formulac on the board
before procesding lurther, Thiy reflects
that sha is following the -

{A)  Ieductive approach

(B} Deductive approach

(C} Experimencal appeoach

() Practical approach

The process by which arez of weakness
of a child in Maths is identilied, i
known 88 - '

(A)  Written work

(B} Oral work

(') Remedial work

(M Diagnostic work

Compurational skills in Mathematics can
be enhanced by -

(A} giving'concepmual knowledee alone
(B) describing algorthm only

() conducting  hands-on  astivities n

. chass
(D} clarifing conceprs and prooedores
foweed by lots of practice

A teacher asks the students to encircle
perfedt Sguare numbers in 4 @ven sol of
mirtbers. The objective pchievesd by thi
15 -

(4) Knowledge

{B) Application

{C)  Skill

(D) Understanding

| Cootd...




INSTRUCTIONS TO CANDIDATES

st & fom e

T'his booklet contains 48 pages.

Please check all the pages of the
Booklet carefully. In case of any
defoct, please ask the Invigilator for
replacemeant of the Booklal,

Each gquestion or incomplete
statement Is followed by Tour
alternative sugrested answers or
completions, In each case, vou are
required te select the one thal
correctly answers the guestion or
vompletes the statement and blacken
| | appropriate oval A, B, C or D by
Black/ Blue Ball-point pencazainst the
question concerned in the

Answer-Sheel, (For V.H. candidates

corresponding  oval will by
blackened by the scribe)

There is only one correct answer to
each question. You should blacken
| | the oval of the appropriale
columm, viz Ay 8, © or . If vou
blacken | ] mare than one oval
against any one question, the answer
will be treated as wrong, If you wish
to cancel any answer, you should
vompletely erase that black mark in
the oval in the Answer-Sheet, and
then blacken the oval of revised
TESPONSe,

A machine will read the coded
information in the OME Ancwar-
sheet, In case the informaton iy
incomplele, different from the
information given in the application
form, the candidature of such
candidale will be freated as cancelled.

Youare NOT required to mark your
answirs in this Booklet, All answers
must be indicated in the Answer-Sheat
anly,
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